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Instructions : Each question has Four Options. There | 7/ Which of the statements given below is trye
is only onezcorréet unswer to each question. Chowst | 1" " about ‘brainstorming’ ? : ;
the MOST",’#B___I?__I},’OPRIATE option and darken/ | o -(1)"-'_';;}lt restricts decision making, ;
g;‘:::f".i‘ffﬁ@mszvquding circle on the OMR Ansier | e ,_:":(2),1._"-:."_It reduces discussion. |
e | 02 43) Tt encourages evaluation of ideas and -
1. Standard ‘deviation of set of 20 values is 21|41, "/ allows critical feedback. | :
& .?Ea_c:l‘\r;;}?a}pe in the data is multiplied by 4.-}.75 (4)\ ‘It can overcome pressures of '
WhatShall be the new standard deviation ? ., :3 r‘_t'ﬁ"."{‘ /.- conformity. . .
8; gi = ~J48: " Price and demand have which kind of
N |38, W -relation ?
e ‘(2) " 334 L |4 (@ - Direct relation
5 @ sl Y N ) ~Inverse relation
2. "People who apply for a vacancy without |’ i;(3) Positive relation
~ prompting from the organization are, i:( ~:(4)  No relation ¥ 93 36
T T 9., What is the median of 3310, 3355, 3450, 3480, .
(1)  Direct applicants 7~ 3480, 3490, 3520, 3540, 3550, 3650, 3730, -
(2) Job Postings to:il 390547 77 =9 JoT © S
(3)  Electronic postings/ E-postings (1) 3480
J8) Referrals - (@) 3490 3 =
3. The cost which does not change with the | - (3) 3520
' changemlevelofoulputis called R C (4) 3505 3
(1) Varable cost - .10. In two-factor theory, which of the following |
(2) Sunk cost s are not ‘“motivators’ ?
(3) Inaemental cost - {(a) * Physical working conditions
© 4 Fixed cost _ C: . (b) Job security
4 The organization structures using ’territoq{’:f ! (@ Job - recogni ﬁ.m.‘ *
to group activities follow : " N J (d) Company pohmes. .
(1) Departmentalization by product  : i 41 o(¢) Growth opportunities
(20 Departmentalization by geography ‘ (Sﬁled(;l; e(;f;rf(e;f anrl‘sWer ;
) Departmentalization by enterpri # 18, (E} OrLy:
'\'/(‘3 function y enterprise Vg;' Ea;, g; (;? only :
(4) Departmentalizati b t a), () only
grolt)ip on by customer @ (a), ®), (d), (&) 0 nly
5. __ approach requires a manager to 11. A selection method should be evaluated on
keep record of specific examples of effective T ottt
or ineffective ways related to emplopyee | ° (2) Re?’f"b‘my (b) Validity
performance. Y (c) Udlity (d) Applicability
(1) Graphic Rating =], (1)  (b) and (c) only
(2) Simple Ranking . (2)  (2), (b) and (c) only
Paired Comparison C L) (a). (b), (c) and (d)
(4) Critical incident T[ @ (@) and ) only :
. { ];12. ‘Unity of Command’ is chall i : e
6- m . LW <o allen Ed mn Wh.ld\ N
thee:seconc! qgarble of a huge data is equal g—o : type of organization structure ?g i
(1) Standard Deviation e (1) Matnx organization structure e
(2) Range *°. (2) Virtual organization structure R
(3) Median 3) ?;pi;tmentalization by product t
(4) Variance ) acmue b
— \}4) Functional organization structure g
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- - g? T y" %) ; the followmg'@_l?lpdnents of an
13. Organizations may pay extra 1o employeayt| 18. CO™lar xR
mlocahoqg where living expenses a'ré'h'i"gﬂ"’"'. : attitude- itive: Belief segment of an attitude
These adjustments are called : | © ', /2 EgE (@ Cofgf:ﬁve . Emotional segment of an
(1) . Pay differentials i (b) Affe attitude - :
(2) Pay rates F iy put | : 1: An intention to en i
. i 137 i 3 i oura . . : ; gﬂgem
3 Pay grades, pay differentials an (c) pehavi certain way
. rates Lo R VT el are correctly matched ?
‘ - ' - 1 of the above
4) ; -.E:{ayilgrades | fiu £ 5 g)thh(b) and (c) only
o I B
14. A tabular relationship between : :; :_ @) (a) only

quantity supplied is known as ;" U HEN | (a), (b) and )
i o s "% = ) g
(1) ‘V:Demand curve . 7 r N ; Vg) (a) and (b) only "y
(2) ~'Demand O <) thesis Testing can be conducted by :
(3): Supply schedule s "“:{ e HYPOMjnitab L
\)(QE':'.-'Dem.énd schedule Feredyi] ) () 1 2
pw Uy R S 1B ('b) MS Exce . 'y 2
15. Which of the following statements are correct }| Which of the above is/are correct ?
in regard to complementary goods ? . " : (b) only ' ‘
(a) - Complementary goods are those goods ||| (2) Both (a) and (b)

which jointly satisfy a demand. - ‘?%E (3) Neither (a) nor ()
(b) , An example of complementary, goods (4) (a) only Ll
" is‘CAR AND PETROL'. . . 7% 411 aw rasdimm, sarstaedan
< s :  dermand fiic| 20. A consumer will ge
(e ? arf:H s price of petrol, the demandfor 20 where marginal utility equals to what ?
(d) An increase in price of etrol,lﬂe:i. (1) Income. )
*®demand for cars will fall. F 5 et (‘G:' ,\J}) Expenditure
() (@) ®and(Qonly R (3) Budget
A" (a) and (c) only LN (@) LS

(3) (b)and (d) only o

| 21.  Which of the following equations is correct ?
4) (), (b) and (d) only

:'; “;\;

- £ (1) Net working capital = Current Assets —
- 16. Which of the following statements is false . Current liabilities '
with regard to cost of capital ? . | (2) Net w.orlfi_n.g capital=Total Assets—
\/_(1)- - Weighted average cost of capital takes Total habl_htles
.+~ into consideration cost of long-term | -J‘-?’ ) Net working capital =Total creditors —
~ sources of funds 2 { Total debtors _
(2)  Retailed earnings have implicit cost . (4)  Net working capital =Fixed Assets—
(3) Cfost of retained earnings is less than cost . Long term liabilities '
of equity | .| 22 Which of the followin ents i
- , ;. g statements is true ?
(4) Cost of capital is the cost of borrowing (I) Transaction, precautionary and
17:° Which of the following project evaluation= speculative are the only motives of
‘techniques-is not a discounted cash flowz holding cash At
technique ? - . ¥ : — (2) Cash budget is based bﬁ operating cash
(1) Average Rate of Return & flows 6l
(2) Internal Rate of Return g (3)  Costs caused due,to inadequate cash
(3) Terminal Value " are referred to as short costs
\}) Net Present Value (NPV) ' , (4) Cash, in a narrow. sense, implies
. e ™l currency and bank l;_aalances only
CMP5A-W | - | '
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23. Cons 1enl}o yeness’ dimension of Big-iv 01‘ fagi I a 10% fall in price causes 50% mcrcase ‘
ln
persona tthhwn' : | BEH demand, the price Llashcﬁ)’ Is
(1) - is a’measure of personal consistency; [Fc
kandwrehahlht\ !
(2) s the ability to be more thoughtful 'md e
() - !‘Efers to be cooperative and warm |2
(4) .xs the ability to manage stress ,i‘ R
g b d | ';2 3
24 The h‘SlOSfam shown belo“' | Wl ;:respect of a firm, the nnrgm of snfety for-, i
0 L g iy 1_-"%, " which in a very volatile market is 5 percent ?r”« 3
035 - L. {i . "()j’ The margin of safety is '\dequate :
_ ‘ N It cannot be estimated
. 03}F ; a3
025+ k . (3) The margin of safetyxsprobably too lowa
. ¥
o2t ;% : I.I;Jhi margin of safety is probably too_ |
015} i o - oush
b,
01 kS !g‘, ‘1(’9. " In a normal distribution, what percentage of i
0.05 3 il the data fall between —2 and +2 standard St
o 4 E ¢4 deviations from the mean? v ;
ol B
Jg Highly skewed right Ji g; gz ::
Symmetric ] [k -09
(3) Moderately skewed left i @ 9973
| (3) Moderately skewed right 1P (4) 68.27
25. Consider the following : I : : o ' Xk
@) B,aw=p. b onewsiled s ‘ 30._ The stock orp;txtrnax;:;ssued are part of“;. ;
Hy:p=p, o i
(b) Hg:p2pgis two tailed test . C\\‘ () :;rt:Ment R
R s - .
of the above is/are correct ? C) (3) promotion
(1) (b)only LD (4) employee mvners]u‘p
(2) Both (a) and (b) i e .
(3) Neither (a) nor (b) 31 P;!Wer to mﬂuence people or groups by force’
(4) (a) only : of personality, ideas and ability to preach is
26. Organization Behaviour inc : : ’
: thegfollowmg o aviour includes which of - (1) Referent Power
((-g)) lcrjlerpeJ-soml Comlnl.lnicah'on i, _\/(g')) I({:ochive PO“Ier
onflict and Negotiation ' eward Power
g;)) IICIE ag El‘ﬁBeha viour and Power '(4) Legitimate Power
otivation e . it
Select the correct answer using the p ‘32 General statements or understandi
given below : & the codes E‘k— guide managers are known as : = to
(1) (b). (c) and (d) only X" (1) Practices
(2) (a), (c) and (d) only C\.\A&j’ Strategies
) (@), ®) () and (d) i
(4) (a), (b) and (c) only " (3) Publications
CMPSAW C:) (4) Policies
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Identify the right sequence of the

@ Aa) Premismg x

() Choosmg an altemahva "~_ -

~Ac) Data collection e ey

(d) | Identifying alternatives ooz I

- (©) ' Evaluating alternatives iy
AT @), () (d), (), () |
(2" (a), (c), (d), (e), (b) e

‘_:(3), @ (d), () (&) ®) = "

(4) (a) (d): (€, () ®

frsn
6{1 1‘ - e ERAYS Yoy
A "‘% expressed as a fraction i is: i o

34.

35. HR» ‘metrics such as producthty"
“absenteeism are displayed on -
(1) . Personal screen o bt

, (2) . Storage system

' B “Human Resource Informahon Sys. m -
(4) HR dashboard i

36. Whlch of the, followmg sets of capxtal
budgeting decisions is/are a correct/
recognised type of decision ? :

- (a) Interest rate decision

IETRE o
A * n (1) mterval

-‘._ - (2)
T

\/?T

.

Mgthep ferencesuf -

for
u "
riouzlgrand of a prd %\'I# a““d“alsl!iﬁ :
a . 2 g
nas:
know rdinal

ratio i e
:) ' 4) Om1n1 e
' Staffing includes which set °f th" f°“°“’“\8
-39 jities '
<. aanRec:'un:mg ~b) - Ol'gamzmg ‘
(a) Selecting (d) Training
gg)lect the right combination of altemahves :

1 (a) (b)l (d) only
52; (a), (b), () only
(a), (). (d) only
(). (c), (d) only
e following statements :
Cons:ie;' :)l:‘gamc modgel is characterized by
extensive departmentalization,
® A mechanistic model uses cross
functonal teams.
Which of the above is/are correct ?
(1) (b)only
Both (a) and (b)
(3) Neither (a) nor (b)

(a)

(4) (a)only .
41. When was Telangana formed as the 29“' State
of India ? :
1) 2014 °
(2) 2015
(3) 2016
4) 2012 -t

42. Kevadiya town is located in wh1ch district of

~(b) Capital Rationing decision < wf I
,(c) Accept reject decision E ; Pl i Sl
(1) (a) and (c) A1) Narmada
(2) () and (c) i o (2) Chhota Udaipur
@) (a), (b) and (¢) N> 6 Dahoa
M) (@) and (b) C|r (@) Tapi
3'7. Unit Digit of 20 !1x19 !><18 ! =1 43. What is the new name of ‘Madhayan- Bho]an
31x21x1!is: Yojana’ ?
1 2 ; (1) PM. Poshanyukt
2 5 ‘ . ) PM. Poshanksham °
@) 9 ', 3) PM.Poshan . -
@4 o0 - P (4) P.M. Poshansabhar P i
CMP5A-W S ':;5 "[‘,9
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+H.

Q/(l) New York

List-1 List-II
(2/(3) cly j::—‘;if." (Biosphere Reserve) (State)
\} (2). (6) and (o) " (a) Gulfof Mannar (i) Madhya'
46. Kiowz: hoar is 2 unit of - iy
2 ~1 () Sundetbans (i) Assam i :;
\yg) il (©  Manas (i) West Bengal
) e (d) Pachmarhi (iv) Tamil Nadu
: Accelerztion Selectthecorrectanswerumngthe code ven
) Power below : g
87, Who served (1) (a-iv), ®)-(iid), (0)-G), (d)- -(i
the C:x;m:f‘f Canstitu “y,t"m"l Advisor to (2)  (a(ii), (B)-Giv), (o)-(i), (d)- (1;
(1) MN. Roy () @), ®)-iv), (0)-(), (d)- (i)
@) BN, Ras o O @) o)) (0-), @)
\}3) HC. Mukheriee 51. Which of the followmg lan I .
gua g -
(4) Dr. Rajendra Prasag goci:ti:o;nofth I:df,lght SChEdmegz; f}ig
48. Where is Vindhayachal Therma] p - o gl ®) U
ow ! rdu
Slzal:xcmmmotx:::1 c;f the largest Po“erplamsfr: e gﬂl Bodo _{d) Konkani
@ J o5 elect the correct answer using the code
abalpur o given below b SIEHES
(2) Singrauli (1) ()and (4 i
(3) Rewa D @ ® only R
AD  Ratlam - "Q/? (). (b), (c) and (q)
o () ®) () and (g) only

‘ s |¢
I vwhich State of USA are the Nisgi® ©* |

located "‘i ‘5,
() Mlclugan
() Ohio:
(2) Verrfiont

Consnder the following statements :

@ Madhva?*a‘e:hﬁigl'thurthasﬂs%d
in Jehelpur

ot

() Madhya Pradesh High Court has 2|3

Bench 2t Gwalior

() Madhya Pradesh High Court has 2
Beach 2t Indore -

Which of the above statements is/ar2

corect 7
(1) (2) =d (b) only

-7.H ~Match the List-1 correctly with the Lisg. a
" ..-:"k { .o ._ .

List - I _}-}st.n

efence Trammg Iﬂsm“te) :(City)
O s @ Dot
AR L = T
A Q{ - Air Force W) ellradgn
Fleeis '
< ':?Academ}’

i“; ngen below:

S0 M) @), B0, ©)-{i), (d)-(u)
%» @ @M. bF6), O @-GiD)
@) @), o6 @) (@)
(@Hiv). ®)-(). (c)-(), (d)-() -

() () and () only

Y,
J— _‘........-"'“"'

Match List - I correctly with the List-11:

v VR B SRR W T 3

i e, .
s R e R R e

AT AT TS B L 4

-,
ST

T e v o
R AL LA E b Y R e

3 . N oy Sl
D P R R - e e T Uil T el t ¥ 2 O R.° VY

e T



LR pich of the following, d%¢s Bombay g
52. Consider the following statements : .~ %] gg. D wrtlnot have a Benctt = n o
(a) Switzerland shares boundary with: Cou Nagpur .
Belgium. S sRed (1) Pune
(b) Belgium shares boundary Wilht.he (2) Panjim (Goa) k
United Kingdom. ' ,f('z) Aurangabad T
() Turkiye, shares boundary” wit. *) . h one of the following is the correct
Bulgaria. vt vl whi istricts of Gujarat moving f
Which of the above statements is/aesf— €I the West ?
correct ? : il 7 ~: East tcc’:hh ota Udaipur - Vadodara -
(1) () and (b) only G M 1)) Gurendranagar - Anand
ony g = dranagar
A @) () and () e, {\/@rghe:m Udaipur - Vadodara - Anand -
53. Steel Authority of India does not have s it ‘; Surendranagar -
' plant in which one of the fouowing‘dg"s’%e"il‘-% 4 4@ Vadodara - Chhota Udaipur -
(1) Salem ' e I Surendranagar - Anand
_(2) Erode } 0. When did Sikkim become the 220 State of
(3) Bumpur -','I '_: 5 the Indian Union ?
(4) Durgapur R ; Q) 1977
j TR | 80
54. Who was the Captain of the Indian;Mexr{h i g; 1332
Hockey team when India won the_;deii:EE‘! b @) 1975
Medal in the Paris Olympics 2024 Hockey 2.+ .y
\_{1) Harmanpreet Singh el ,i h61. Which of the following is not a function in
(2) Amit Rohidas = .--:Z‘{ M3 Excgl ? - '
(3) PR Sreejesh = (1) Min()
(4) Hardik Singh & ; = i‘:’:f?? O
: . Sl .
55. V\;};chf cg‘\e gi tht;e1 following countries is nota | (4) Sum{() o
part of the Ameri i : , ;
(1) Costa Ril::a jameriea Cof‘t__'nmg ? 62. Which of the following is the blank space
: outside the printing area on a page ?
2) Uru pPag
(2) guay : (1) Margi
(3) Bolivia (2) Heaginer
" (4) Ecuador o , (3) Footer
56. Na;dmada River originates from which district 4 Clipart
in Madhya P : ‘
1 aA ya Pradesh ? | 63- InMS Excel, Scenario Manager comes under
(1) nuppur which button ?
—2) Damoh oI~ o Group
(3) Narmadapuram A=~ (2) Filter
(4 Seoni Y~ ) Consolidate
57. What is the main objecti Ll What - if Analysis .. -
Yojana of Gujarat ?o jeetumat Jyotigram 64. By default 4 i L
) i » a PowerPoint presentation is
(1) Provide electricity to Industry [l  Stored with the name, . - .
(2) Provide electricity to Agriculture I () Presentationl T
V§5f Provide rural l_ighﬁ_ng 8} Default LR
4)  Provide more electricity ; g MyPresentation =
ShyinTown . \/(4') . Presentation B
CMP5A-W : '
7 PTO.



65. Which of ?ﬂ\b following function keys 1 used
to open’the help window in A\

B3

R
?‘ 4

IR \\‘\‘Td:! 30

-m'.aé-;,:é-z- e AT

1) Fe -
2 F1 7;,7_'}
) FI i,

A _F8.

66.

when typed in f )
dialog box ? ‘ _ ‘
(1) winwond.cxe ;% AN L3
\/@) word.exe : A
(3) word3&5.cxe ! :
+ (4) msword.ene ‘z ks

67.

Gl
Which of the following file starts théB
MS Word application ungy

S

“number of possible rows in MS Exce
worksheet ? ;

2. Article 21 of the Constitution of Indj
. provides for :
~{1) Right to Equality
()
52 (3)  Right to follow Religion

‘w Right to Life and Personal Liberty :
3. Intellectual Property Laws do not include : 580
A1) © Patents Act SL
72:1(2) - Design Act
i:(3)- Customs Act
- (4); Copyright Act

j,'." : -'~’-1're__placed \yhich 1

S‘%é 832y )
LR
azighnety,

i

)
”
%

LH
X

Freedom of Speech and Expression e

T

.
t

g
e. -

A Y

he newly enacted Criminal Laws hav
aw ? - '
Criminal Procedure Code only.
Indian Evidence Act only :
Indian Penal Code, Criminal Procedure {2
Code and Indian Evidence Act R

_\/{‘n 10,538,576 /425 (4) Indian Penal Code only
2 Ledbiy (75. According to Section 10 of Contract Ac
8} 163,053 B ccordl.ng - c(l: Cm:ir} i‘; it 'onot a results?
() 451562 B g?xjsent is considered free if it is il
68. \Which of the following shortcut keys is %% (1) Undue Influence only
to switch between open workbooks ? - ? *.(2) Fraud only :
(1) Cul+s ' o 9‘,5’.-'\/(3) " Coercion, Undue Influence and Fraud:
A2 Cui-Tab ND: T () Coercion only N
g; ?_‘!’:‘?sf\“ . —>76. Amit celebrated his birthday on August 24,
~}] 2024 which was a Saturday. In which year
69. ICT stands for: . - next shall he celebrate his birthday on .
() Intelligent Communication Technology Saturday ? . Rt
(2) Information Communication and (1) 2029 g2 sl
Teaching A . . (2) 2030 «,
(3) Intelligent Communication Teaching \/(3) 2031 -
A7 Information and Communication (4) 2027 ) : e
 Technology 77.  What is the unit digit of (55)16— ()52 . '
70. Which of the following is not a search" 1) 2 BT g S 2|
engine ? @) 4 ;lz
(1) Bingcom €l (3) 6 ]
2y Microsoft.com 5 @ o - JhE iy
(3) Google.com g 8. Onei R 5
(1) Atavistacom l78- e item was sold at a profit of 16%. If it. i
e D was sold for T 20/- more the profit would " *./"
71. Association of more than 10 persons can be have been 20%. What is the cost price of this " *
" registered as company under which law ? ~{*=  item? L et
(1) Partnership Act <J ) zso FT U6 |
(2) Companies Act (2) < 520/- \3¢
\/(3) Contract Act (3) T 550/-
(4) Limited Liability Partnership Act (4) T 450/-

CMP5A-W




91. W& Aol Al 196 S A ag’ 3Ruderl SOUENCY

\yﬁr AR\ | (1) ocut-tad _
S 2)  wyMid 59
@ wad A2

(3) ol »uad

3
WA S @) a2
(4)  Myyen
\Ll ,-. : - Rzaell .
92. LAY w3 s wor WA - ‘gl W™ [ 97, ‘aude’ el (43¢
(1)  we " (1) ous
2) GwR
(2)  2wsbua T/(@‘)) s
(3)  wdsidl sd @ e
(@) udaar ' _
93, “Sirll Wetl et sel’ 5O sl welsR | 98, ‘2l Gloll, e asel, 2 AL A (B
87 sl wesiz 87
1) Gwu Y ARG
N @) 345
) Genall
A (3) Gdlau
(3) -y L
£ 3% (@) Gwu
4) 3us 3
94. ‘el Hlal dlidl Al w3 67 [Qu 3:1;[% 99. 2l el L.
ERNTETRETER U ; 1) b (2ulinl
(1) WHELAS S \\/(2) sl (50 (550
2 lawas _3) uRRAM
galUS ) ARl
\)}y dlled 4 il

(4) USRS
100. vl isell Al

T R

95. il Asg’ 3RuALLAL 2 AL

(1) ou-t - ugd . @ wgaf
() eutud @) Gk
(3)  ou-til vuad Lo @) a3l
2 Az asdl | 0O
g - o-
CMP5A-W 10
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79. At what time the hour hand and the ﬂﬁnuif"qfa.; oose 'the word opposite _li?.%mn? b,
hand of a clock shall coincide with cachotheri[* ~ ‘SOBER k Ladof s
belween5:00 hrs and 6: 00 hes 7~ ] (q) Drun
8 r t, : (2) Calm
1) 22— min past 5 ol o bl
,( ) , "-’u p ‘ \/ﬁ; Grave 2 ,i,
p Y o] B3 error in lhe giw:n' sent :‘i
@' 272 min past 5 . ig5les. Spot the o e
¢ A © o=l [caneither go for cycling %‘ |
@ n 5 el T A T B g
() 1175 min past {1 in this weather k f‘“
- Ry o B e —— AN
(4) . 30 min past 5 . R D g
- sl ) B
80.  Three different positions of adiceares hown'i| - 2 C e
Which face is opposite to the face 47?7 Rl (3; E &
A ) 7 e S ,":ﬁ ol . f-‘:- "
5 1 : Wiillge.” Choose the word closest in Meaning o ;
: " ‘SALVAGE’ FE
-. Q’ { (1) Perform
el s 8 b il 2) Discharge
! ' (1) |3 ! 3’ §3; Approve
@ ai & e
E4g 2 ‘.s',ﬂ'* 87. Choose the word opposite in meaning to ;
‘ 7 e Ry ‘FLOODS’ S
81. Choose the meaning of the given idiom'ftﬂccg (1) Drought
; account for’ ? g G . (2) Drudge
(1)  to speak the truth _ z iI _' (3) Drowse
(2) todeal in stock market | Yl 4y Draught
- (3 to gamble away the money - i| 88. Give one word for the following phrase
i . \/@) to give a satisfactory explanation < ‘connected with the whole universe’,
e ) ; g ' 1 Astr ical '
. 82, Fhoose t’he word g!gigst in meaning to : l \/%2; Wso rlt)c;'l\;nu
SALVO . j (3) Cosmic
(1) Gunfire -] B 4) Omniscient
@ Sanction F“ 89.  Give one word for the following phrase. ‘The
A3) Ointment } process by which knowledge and
(4) Solution 'E; i understanding is developed in the mind’ ?
83. Find the error in the sentence - c,:‘,, - () Vigilance :
. D (2) Understanding
The secret of / good health lay / C:: N (3) Cohesion
A B . Lf I M) Cognition
in exercise and / Proper nutrition 3 ‘90. Fhoose the meaning of the following idiom
C D | only the wearer knows where the shoe
(1) B i Pirches’, B e oA
w2 C | (1) Shoes can be hurtful'to one’s feet
@ D | (2)  Experience is objective: '
4 A g (3)  Difficult to know the suffering of others
@ " } (4) One should wen{ﬁom_@‘fwt,’{e' shoes
CMP5A-W i SR e S
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91. W& Aol Al 196 S A ag’ 3Ruderl SOUENCY

\yﬁr AR\ | (1) ocut-tad _
S 2)  wyMid 59
@ wad A2

(3) ol »uad

3
WA S @) a2
(4)  Myyen
\Ll ,-. : - Rzaell .
92. LAY w3 s wor WA - ‘gl W™ [ 97, ‘aude’ el (43¢
(1)  we " (1) ous
2) GwR
(2)  2wsbua T/(@‘)) s
(3)  wdsidl sd @ e
(@) udaar ' _
93, “Sirll Wetl et sel’ 5O sl welsR | 98, ‘2l Gloll, e asel, 2 AL A (B
87 sl wesiz 87
1) Gwu Y ARG
N @) 345
) Genall
A (3) Gdlau
(3) -y L
£ 3% (@) Gwu
4) 3us 3
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